ASSO MORTISE 6

REDENTORE 2

RISULTATO SET TOTALE
SQUADRA A SQUADRA X 2 3 4 5 SET PUNTI |PARTITE
A XA X A XIAIX AIXIAIXIAI X|A|IX
A [LARENTIS X IBERTON 11,96 (11| 5 11| 4 |11 113/26(42| 0 | 1
B ZILIOTTO Y |INALIN 114 (116 (11| 7 3/0(33(17| 1|0
DP|ZILIOTTO-PIOMBINO |DP|BERTON-NALIN 11049 11|11 9 |11 7 3 114231 1 0
C |PIOMBINO Z MERLIN 11 3 |12(10 11| 8 3103421110
B |ZILIOTTO X BERTON 9 11|11, 6 (11| 7 |6 |11, 9 (11| 2 | 3 |46/46| 0 | 1
A [LARENTIS Z MERLIN 11,4 (117 |11 8 3/0(33/19|/ 1|0
C |PIOMBINO Y |INALIN 113 (11| 4 (11| 8 3/0(33/15/ 1|0
B [ZILIOTTO Z MERLIN 11149 11113 [11] 9 31114227/ 1|0
C [PIOMBINO X |BERTON 0|0
A Y 0|0
TOTALI| 21| 8 [289|218| 6 | 2




